C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

1) 3¢8(7+7) 2) (8¢5)+2+9 .
2.
3.
4,

3 9(15:59)¢10 4) 6(5+7)+12-10 i
6.
7.
8.

5 (629)+13-10+6 6) (3+9)+72:8+4 .
10.

7 (6+8)+70:7+3 8) 4+6(18:2+6)

9 4(6+45:9)+6 100 9+50:5(9+6)
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Reihenfolge der Operationen

L 0se jede Aufgabe.

D 3.8(7+7)

3.8+(14)
2414
336

3 9(15:5¢9)¢10
9¢(3¢9)+10
9¢(27)+10

24310
2430

5 (69)+13-10+6
(54)+13-10+6
67-10+6
57+6
63

) (6+8)+70:7+3
(14)+70:7+3
14+10+3
24+3
27

9 4(6+45:9)+6
4+(6+5)+6
4¢(11)<6

4446
264

2) (8¢5)+2+9
(40)¢2+9
80+9
89

4) 6(5¢7)+12-10
6+(35)+12-10
210+12-10
222-10
212

6) (3¢9)+72:8+4
(27)+72:8+4
27+9+4
36+4
40

8) 4+6(18:2+6)
46+(9°6)
46+(54)

2454
1296

10) 9+50:5(9+6)

9+50:5+(15)
9+1015
9+150
159

Name: L Osungsschliussel
Antworten
1 336
2, 89
3, 2.430
a4 212
5 63
6 40
7 27
8, 1.296
9. 264
10. 159
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
2.430 212 27 63
89 1.296 40 336 1.

1) 3¢8(7+7) 2) (8¢5)+2+9 »
3.
4.
5.
6.

3 9(15:59)+10 4 6(5+7)+12-10
7.
8.

5 (69)+13-10+6 6) (3.9)+72:8+4

) (6+8)+70:7+3 8 4.6(18:2+6)
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